Question 1 of 70

D'0'NN OX 30°C 7¥ MILIDNLAITV'7'7'N 2600 7W NDID N'N'H NON 7Y 'VINDIND YNT7N NN
?71n/0 98,000 7w "7577In 777wn 7va 0'TaR 7w 01 50 N2

0.467 mmHg

3.71 mmHg

2.46 mmHg

1.71 mmHg

Question 2 of 70

M niM'7inn nn ,0m 077N 112.5-2 SrCls ‘7w D1 38.1 7w NONA T 7V 0N 'ON TNTN
2n0'NNn 7V

27.0M

0.338 M

57.3 M

2.14 M



Question 3 of 70

712712 NO'N 077N 250 7w N'7'an T 7V 011N Na N O3 nonn 7w M nif'7inn nn
?70'7"'7'"n 400 7w '©I10 N917 1.6M

1.2M
™
2.56M

0.160M

Question 4 of 70
Dor: | had a bug in this question in Lamada in picture display. Please continue to the next
.question
20kJ/mol
10kJ/mol
10kJ/mol

OkJ/mol



Question 5 of 70

NN NIRRHTN NTO NN

24— ;B+C AH; = 5kJ /mol
SB+4C —2A+ C+3D AHy = —15kJ/mol
E+4A - C AHj3; =10 kJ/mol

C — E+ 3D nanpnnny AH nx 1awn
—10 kJ /mol
OkJ/mol
10kJ/mol

20kJ/mol

Question 6 of 70

(1M1 .N17un 0.201-2 0 7V [IX9;70 N7 X TN 0.0643 7w Ni'77ina KCInomn D jim
'> 7'0n7 (M 1770 0iman LKy = 1.86 K-kg/mol o'm 11y

0'2A N'7n 91X 00NN KCI N'7nn
0'A 777N |DIX2 00INNN KCI N'7nn
0" 00NN 'R KCI N'7nn

1121 NI'X NIRIYNAN NNX X
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?]121 1'X 0'X2N D'ODWNN AN DTN
2NN NN NN N'O7NIN
2NN NN NI'NR NTIAY
VIQj7 YN72 7'70N 112V TN N2ARN 7Y n'97NaxX

AXD N"X71O NI'R NTIAVY

Question 8 of 70
Reaction AH° (kJ)
Py(s) +6Cla(g) — 4PCl3(g) —1225.6
P4(8) + 502(9) — P4010(8) —2967.3

PCl3(g) + Cly(g) — PCls(g) —84.2
PCl3(g) + $02(g) — Cl3PO(g) —285.7

P,01¢(s) + 6PCl5(g) — 10CI3PO(g) :nxan AH° nannn Din X 12wn
—610.1kJ
—7555kJ
—2682kJ

—110.5kJ



Question 9 of 70

207107 715" 1R DN AT DM 0NN 120
1.6 x 1073 Kg %7vun ant 1wy vaon
(Sg) N9 7w 7N 3.43 x 1027
OMIOR 1.27 x 10%° nyonn p7ux nnaT

N 1.2 x 1073 yw ava nod> NV

Question 10 of 70
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DTN INNIN 0700 1Y JIOXX D12 100 '7'on Wi 7001 0'n 072 100 700 luXn *70n .37°C
211010 TANN NN XLV TN 7w 0210 NOWYW T 7V DT

D2 100 IN;7'72 DNYWN D DIY 2T 17V 07710 W MI0ON0

ANI* NI Y700 DIN 07 ' IOXRN TNIVIDNON NIF N'7VN 0PN NIVIDNLD

NI )11 '7120 DIN [IOXX7 D DN TNI0IDNON NI N7VYN [IOXRD TNIVIONO

|XOIQ NIND NNIX DY 1PNIN DNAY D QY TN 17V 017710 'Y NI019N0



Question 11 of 70

?2N07VNN 7V 1230 a0 an .w = 15kJ o1 g = 20kJ D Ima 0 ndwn 1y
N1IN'NN N2'20N 78 NDWNAN DIT DIN
NIIN'NN N2'20N 7V NTIAY NIV NOVNN
AE =0

AE = 35kJ

Question 12 of 70

211230 vVowNN NN .Hy(g) + %Oz(g) — HyO(l) AH = —286kJ :nxan nannn naima
DININN N'O7NIND N71IT) D2NN NPO7NINE NNINIOTR NARNN
DININN 'D7NIRN D712 02NN 'D7NINI ITINITIR NADNN
DININN N'O7NINN NI0;7 DFANN A'97NIXRI NMNANIOTN NARNN

NANDNN NPT N2'20NN N'ANIX NV7E7 NOVNN



Question 13 of 70

|O7IX '7W DT N90INLN 0.121 7w O TR YN7 W' (heptane) [NVON7 40°C 7w MIVIONL]
7¢ 0'7IN 7w NNT 190N N'7'2NN N0'MN 7Y 0'TRN YN7 2 AN .NN90INLX 0.047 (octane)
?|0{7INI [RVON

M90DINLX 0.168

NN90DINLX 0.084

D'7TN 7¥ "7127 NV'T X77 2wn'7 N XY

N190INLX 0.074

Question 14 of 70

10'7 4.7 7w '9I10 N917 107 1.0 7w N7NNN N9 C'O5 T2 NIVYWONN 7W ATIAVN NIX 12YWN
NN90INLX 1.0 7Y VIa7 YN72

Latm -3.7
Latm -5.7
Latm -4.7

Latm +3.7
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N7277NN NONIRD DX 71727 0N Itn 122 .9.9kJ /° C 7w Din 7127 v n¥x9 10011777
0NMI7;70 MIVIDNLI DIV 1DI0 7w 0 1 0'91IYW DN D DW7 .Ce H150g D2V 1210 NO"WN
NTN )'7NN2 N72;7N0Y NNIND NIND NIX 1AYWN .NI7un 1.58-1 071V

3.7 x 10°kJ
0.29kJ
15.64kJ

8.81J

Question 16 of 70

120 7200 10N"MI7{77 NONNN NIX DFAVN [DN INNT .95.2°C-7 nnninn Nonn 7w 01 45.9
7Y 7V 7V Nax" NN 0NN 7Y NMI01DNLN NN NPT INXRT .21.6°C 7w NMIV1DNLL O'N DA
?10NNN 7w DINn 7127 an .C' = 4.18J /g° C xin o 7w DN ‘7127 D WIT' .24.5°C
C=045J/g°C
C =110.45J/g"°C

C =0.25]/g°C

C =0.15J/g°C



Question 17 of 70

T2 107 1.5-7 107 0.5-N DYWONN T2 IWRD ,NDIVNN NT'OON IX NO7ETY ,w NTIAVN NN 12WN
1L-atm = 101.3J '> N2t .atm 2 7w 1x'n yn7

—103.01J
—402.6J
—202.6J

—8.36J

Question 18 of 70

NN 7¢W NTO NRIM)

AH (kJ/mol)
2CIF 4 Oy — Cl,0 + F,0O 1674
2C1F; + 209 — Cl,0 + 3F,0 3414
2F, + Oy — 2F5,0 -43.4

CIlF 4 F> — CIF3 2y A H nannn 120X IR 12WN 1770 01NN 0'01 7V
—130.7kJ /mol
—217.7kJ /mol
—108.7kJ /mol

+217.7kJ /mol



Question 19 of 70

.25°C 7w MILIDNLL 0N 1V'7 170N *727 0'DI2IN 150°C 7w MIV1ONLA (N7) 771 D 100
NID'ON :IN1) 27,71 7W 71200 DINN 7127 1NN .26.3°C XN 7j7'301 D'NN 7Y N'DI0N NMI019N0LN
(C =4.18]/g°C om 7w 'mo nin 71277 ,d = 1g/mL om

2.28J/g°C

0.439J/g°C

0.554] /g°C

0.144] /g°C

Question 20 of 70

2MI1019NLN NXT7VN 277V NO'NN 7Y NI'77INT71 NIMT7INT N7 AN
M7Tn [Ny
NIV;TN [N'NY
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20TTNT [N N7 "DININ VY NTR
P-AV
U nmnnao nnax
AFE

AU

Question 22 of 70

?2n"01 DTN 720 NIX 1NN 0N 655-1 TTNI DITR IR 7W 72 NIN
6.65 x 10> cm”
6.65 x 10~ cm”
6.65 x 1072 cm”

0.0065 cm”



Question 23 of 70

;N2 7200 M2y AH R awn
CO(g) + NO(g) — COq(g) + %Nz(g)
1207w maan? AH pna
0(g) + 50x(g) — COx(g) AH = -283.0 kI

N(g) + O2(g) — 2NO(g) AH = +180.6 kJ

—373.3kJ
—102kJ
192.2kJ

—192.7kJ

Question 24 of 70

1INNY' DIN ANd .%Oz(g) + Hg(l) —» HgO(s) AH = —90.8kJ :nx2n Nannn nim
?qTIv2 |xnn DV 2 Hg 7w 02 66.9 N2 nanna

90kJ
6, 700kJ
0.333kJ

30.3kJ
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M9DINOLKX 1YN7I 25°C 7w MIV1ODNL AH}? NN NYO7NIX NINAN NIT7E7'7I00 AN AT

?09N7 NIIY 11'X
DOX NINXNIIM N"97NIX 0D'OTIVO O'XINA 07107

H,0(g)

Question 26 of 70
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NN vR 7w J /g° C 7w nimna ¢ '700 DN 7w 0'7Y 0IN1 D)197W 17201

TONNN N7 02 NWINI DINMITR
DIn 7127 0.13 0.24 0.38 0.90

D 10 7w DTN O'N71I7 NONN 700 .25°C X' NIDNNAN NNX 727U 'M70NNn MIIvN9noun
127 N2IDIN V7N N DI DATINN TR 7D DIN'NA NV7YIND ANIRD NIND LINIX 0NN
?01N'NN DINA N2NNN 7Y MI0IDNLN

NI NNIRN NN DRMIT7RN 7Y MI01DN0LN DIN'NN DINA

ONF NI NN 2N 7Y N1 N0N DIN'MN DINA

.DIN'NN DIN2 NIDNNN 7Y NNI0IDNON "2 NIWAT7 ' T2 DN 'T 'R

.NMY NN NDNNN 70 79 MIvNSN0LN DIN'NN DIN2

Question 28 of 70

:INQN N2ARNN DM
oin 03 .CoHsOH (1) + 305(g9) — 2C05(g) + 3H,0(1) AH = —1.37 x 10°kJ
?2CyH;OH nadnn 7¢ D2 21.1 221 DX MNNY?

6.27 x 10°kJ
2.89 x 10%*kJ
6.27kJ

0.451kJ
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2121 1'X 0O'X2N D'0OYUNN AN N
N1 NIOIN NNY7RIN WRD 100 mwn AH
V1177 YN'72 N'WVIN NN NVY7910 IX NV7;730 DINN NIN27 niw A H ‘7w 1Dy
D'2NN NIND7 W onta Xxm AH

NINWN ND1 N'WYVIN NN NO79N IX NVY7710 DINN NINd7 nllw A H ‘7w 1Dy

Question 30 of 70

:TF, N7 TI' 2120 NM7177100 AMONIRND NIX V17
(trigonal bipyramidal) nw7iun ATMYO-IT
(linear) M7
(bent) n'nt

(tetrahedral) n"YTANTLL
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?Mn*T 2y nnop7Rn Aoz n
[Ar|3d°4s?
[Ar|3d®
[Ar]3d345*

[Ar|3d°4s?

Question 32 of 70

o= 3-771 = 6-N12VUN YU IUXRD |N'N DIONN V7910 700 IR DX 12WN
q0NI 656
10NN 486
10111 1095

10N 1300
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?7N'2017 NI NIXAN NITHT7INAN IT'R
IOF5
NBr3
CH2CI2

CF4

Question 34 of 70

?HCN-1|pn97 W' 1 '8RO MW7 NNDI o XNX'D "YW{7 NND
'XO TNXRI XNI'D TNN
'O TNXI XNA'D Y
'X9 Yl XNI'D TNN

'XO "JYUI XNX'O Y



Question 35 of 70

X 7Y 1019 V791 o0 ARNIND WVIT X7 '910 n-7 M2V n = 4-n '7'NNN [P'ND DIONA |NV77X
!OI0N 1 NN 1V2;7 .10NI11 486 7w 72 IR '7va

Question 36 of 70

?N3_ [I"N 712V (resonance) DT NN XN D'RAN DANN AN NT'R



Question 37 of 70

?0'Y2IYUN X7 DNO;77X 7Y N1 NI2N 190N W' O'RAN |'AN 'Y

Ti3+
Fe2—|—
V3+
Mg2+
Question 38 of 70
$NINAN N2NNHN May AH® N vavn
02(g2) — 2 NO2(g) AHP° =?
M
g) — 2 NO(g) AH® =+183 kJ
)2(2) — NO2(2) AH® =+33 kJ
+155K
-150kJ
~117kJ

+333kJ



Question 39 of 70

2N |j773N0 DIOX 7V ('XTTI2N) AR'7D0N NN .(cocaine) |'Nj717 7Y ' N1ann [In 707

N 0
o
H
@)
(0]
H

sp3d2
sp2
sp3
sp

Question 40 of 70

?271WN 2NN 11N 7va I NT'X
2—
SO?
2—
co?
NH,

ClO;



Question 41 of 70

?2N1'2 1NN 720 MR IR W' 72 DTN NT'RYT
3 x 10M%s71
3 x 1013571
4.12 x 10°s7

8.50 x 10%%s1

Question 42 of 70

.0 01 500.0-2 oninn CyHgO5 717772 7'k 012 500.0 NOMN 7w nnN'Mn D772 IR 12WN
K, (n"n) = 0.512°C/m :im1.0'm 7¢ anmin 1723 100°C-21 Iwnnwn

108°C
92°C
8.3°C

130°C



Question 43 of 70

(toluene) |XI710 7UI mmHg 745 XIN 712 7Y 1IN0 DTN YN7 .(benzene) |T12 7w ND'MN N1IN)
AN .x = 0.590 XN NO'NNA |12 7¥ "7INN 12Wn .mmHg 290 NIN [XI710 7W 1IN0 D' TR YN7
JITAN NTRO [RI710 '7W M7I00 12w NN

0.590

0.41

0.778

0.213

Question 44 of 70

?m = 0-1] = 2 :0'RaN 0" VA7 D90 7V [NV77R 1AV (121 TN DTN
3p 700N N7 710! NOTTRN
Cla |T'0 DIOXR7 "W NINY7 2N [NO77RN
d "70" 1IN NWUNNN TNNA XXNN7 710" NLT77RN

3d 702182 N7 2N NO77RN



Question 45 of 70

210N 'N DN 1 7Y 700N 197X 1'wn an L H2O2 [¥nN N 7Y 7179 NAN Nama 707
Hy05(l) — H20(l) + $02(9) AH = —98.2kJ

-2.89kJ
-0.98kJ
-98kJ

-0.9kJ

Question 46 of 70

T2 10'7 50-7 10"7 15-N VYONN T2 WND ,NNIDIVNN NT'0ON IN NO7I7Y ,w NTIAVA NIX 12WN
1L-atm = 101.3J .atm 1.5 7w 11¥'N YN7

-3.0kJ
-7.6kJ
-5.3kJ

+7.6kJ



Question 47 of 70

Inn .0'm2 Fe(NO3)3(s) 'Mij7an 7112 02 6.05 7w nonn "' '7v 0N 10*7 0.5 100 nTavm
21t no'na NO; it 7w 70 11210

0.15M
0.075M
0.05M

0.025M

Question 48 of 70

D072 100.0 7w NXR'7N N9 N2 DINN DX QYN L XO7IX NOMYW 1AV NONT7 ARIYND NI
.g/mole 114.33-7 NIV |[XL7TIX 7Y NT7INN NONN .[NOTIR
2CsHqg + 2505 — 16C0O5 + 18H,O AH° = —11018kJ/mol

-11018kJ

-4819kJ

-602.3kJ

-535.4kJ



Question 49 of 70

D 100.0 7w AN'7N NOIYWA 1NN DINN NIX 12WN 2 XO7IR NOMIYW 112V NONT7 ARIIWNN NN
.g/mole 114.33-7 NIV |[XL7IX 7Y N'7INN NONN .[ROFTIN
2CsH 5 + 2509 — 16C0O5 + 18H,O AH° = —110181{.]/1’1101

-4819kJ

-602.3kJ

-535.4kJ

-11018kJ

Question 50 of 70

500 7¢ nomna CygHg minn 7w 0 51.2 07900 nonn 7w (molality) ni'77mn nx 1awn
20770/ 1.60 7w nioox 7va C'Cl, MI7OX00 PND 1077

0.25m
0.5m
0.750m

1.69m



Question 51 of 70

MmN .J 145 7w NNIXR NO0IN T 7V nnnin 25.0°C-1 07112 0 0 6.50 7w nnalT
(4.18J/(g-°C)-7 nmw o'n 7¢ '73000 DINN 7124{7) ?0'0N ‘7w N'DI0N NIV1DNLN

30.3°C
25.2°C
118°C

5.34°C

Question 52 of 70

NIY IT NO'NN 7w 'OINDIXN YN0 VIT X7 1270 DW'7'0 5.87 N'7'on '7"n 10.0 N912 nO'NN
MITRT70 12700 7W N7 nonn NN IRYN .25°C-1 mmHg 2.45-7

7107 D) 3500
7In'7 D) 5450
7In'7 0 6400

7In'7 D) 4452



Question 53 of 70

X0 NCl3 07177700 79 NMonikaN NIXN
(trigonal planar) MIwm W7I1WUN
(octahedral) "TNOTIN
(pyramidal) N9

(bent) qoI1ON

Question 54 of 70

:12121 ANVT7R N7 AT'R 12T
[Ar]5s24d1°5p25p25p}
[Xe]6s24f10
1522522p2 2p§2p§333

[Rn]75%5 f26d>



Question 55 of 70

2'01NXI9 12'X O'XAN DI 2N DTN
F62+
NI7I;77100 N NN X

Cl™

Question 56 of 70

NN N777100 N2Im)

g

H,N—

/.'1

?IN ,C> ,C1 o'niorn 7v (hybridization) nx73nn nn

F\

N = 5P2 ,Co = 3P3 C1 = 3P3
N = sp' ,Cy = sp® ,C; = sp?
N = 3103 ,Co = SP3 C1 = SPZ

N = sp2 Oy = sp3 O = sp1



Question 57 of 70

?H SO, n7i;771ma noi niox 7v (hybridization) nx'7onn nn
sp3
Sp
sp3d2

sp2

Question 58 of 70

SOs3  HF ,OF, ,PH3 ?nI"017 [0 NIXAN NI7E77I00 120 TR
HF 71
SO3 LbynN7 07D
NI77'7100 N NNX OX

OF2-1 HF 11



Question 59 of 70

CHsCOC Hs [I0XX 0717710 112V [1230 O'RIT7 N1an X 1NN

Question 60 of 70

,F 7o' 0y Wi 7" 1o ox [ Kr]5s24d105p? nnopx aioiz 7va i E Tior
20119¥N NADINN AN

EF4
EF
EF12

EF8



Question 61 of 70

XN NIDNN NX ¥ 1 'WRIN 07N 190NN ,0I0XR 7W 0'70' 1IN
['V22 070" 201NN 7Y AN NN
['V22 DINOVT77RN 7Y 01N NNINN
DIOXN |'VIANN DNOVT77RN 7NN

DILN] DINL77XN 7Y AN N'IT

Question 62 of 70

.0m 7"n 376-1,C3HgO3 Mx'72 072 30.7 07200 NOMN 7Y [IXDY7N NTI712 AT DX 12WN
(text{g/mol}\ 92.09 = " ¥'72 7w N7IN NoN) . K¢ = 1.86°C/m om 12y :im

0.654°C
1.65°C
0.887°C

4.98°C



Question 63 of 70

NM7 71 = 5 NN 1NOF77R 12N 1 (J) 781N nnnarnl (m) 1012 720 IR DX 12WN
He™! nioxa jnojpyxr v n = 3

107, 3.205x107"mx6.189
1072, 3.205x107"mx7.566
107, 1.077x108mx2.42

1078J, 6.201x10"*mx3.124

Question 64 of 70
NN Cl— Kr — Clwin 7w nutn KrCly n'i'nm
nI7vn 109
NI7un 90
NI7un 150

Nni7vn 104



Question 65 of 70

?|121 RIN D'NAN DTN 12N DTN
3d N At X7 0No77R AT W N 7771 DIORYT

[NO7'7X IND 1, [, m D"OU7N DIDONN 7Y DDV DNIN DX W' 25 701N [NOT'7R
.3s '70INa

J71TNA17W NIXRN NN DYVTIF DX (NO77X 7w 07NN D7 NV T7 TWON

.65 701X 197 4 f 70" 2N INTN' DINLTTR NNLT7R NN IT'O

Question 66 of 70

180 7¥ ND12 NO'N N723;77 0O'NA 11N D2 0.25 10'N OX 1270 7Y NM7INN N0NN DX 12WN
.25°C-21 mmHg 9.2 '7¥ '0IN0IX YN71 '7"N

g/mol 10%2x2.7
g/mol 10%x2.4
g/mol 3.6

g/mol 10°x2.8



Question 67 of 70

:X'N NV [i73nn miok 7v (hybridization) nx7onn , Ha N2 07177102
sp3 NN'72N2 [;73NN 'IOX Y
sp2 NX72N2 |j7aNN 'NILX Y
sp3 "WNI sp2 TNX |;7IN DIOX

sp3 WNI sp TNX |72N DILX

Question 68 of 70

DNV 0N 7"N 750-2 0'onin K Br n'7n 0 25 7w (molality) ni'77mn nx 1awn
(¥9"91n 1g/mL)

0.018m
1.44m
0.280m

0.480m



Question 69 of 70

70 MR AN .= 1 N7 NTN 7911 1 = 0o NNIND77X NN XXNIN [N'N DIVNA [NOT77R
207 71'7nN2 NNNYWNY

m 107°x1.9
m 1077x1.097
m 1078x9.1

nm 91

Question 70 of 70

:0'X2N D'I90NN DY TIVAT AN 7Y [INNXN [INV77XN 1D VIT DX TID' 7W 'NIOXN 190NN NN
m=3,l=2,m=+2,ms=+1/2

13
21
29

39



